
Monday 8th February – Word Problems 

1. If there are 6 apples in a box and there are 2 boxes, how many 

apples are there altogether?  
 

 

 

 

 

 

2. If there are 20 children and they need to split 5 groups, how many 

children are in each group there?  

 

 

 

 

3. If there are 6 children and 60 sweets, how many sweets would 

each child get if you divided them equally between them all?  

 

 

 

 

6 6 

20 

60 
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CHALLENGE: Write your own word problem with X or ÷ using the bar 

model below 

 

 

 

 

 


